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p.653, na figura 3, onde se lê:  
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p.651, onde se lê:  

 

“In the layer from 0.60 to 0.80 m, the values of root area in treatments T100 and T200%% 

were lower due to the fact of the irrigation system locate up to 0.16 m deep and are held three 

irrigations times a week, which meant that there was no water deficit. This procedure 

provided the first layers of soil and higher humidity did not stimulate deep root growth to 

deeper layers!” 

 

Leia-se: 

 

“In the layer from 0.60 to 0.80 m, the values of root area in treatments T100 and T200% were 

lower due to the fact of the irrigation system locate up to 0.16 m deep and are held three 

irrigations times a week, which meant that there was no water deficit. This procedure 

provided the first layers of soil and higher humidity did not stimulate deep root growth to 

deeper layers.” 

 

  


